ARKANSAS STATE HIGHWAY COMMISSION ARDOT TABULATION

Snow Plow					CONTRACT NO.:	H-18-286H	DATE OPENED: _	5/30/2018	
					-		D.4.0.E		
Delivery: with	in 180 l	Dave after aw	vard		_ FOB:	Hope, Batesville, and Paragould, AR	_ PAGE: _	1 of 4	
		anufacturing							
	P.O. B								
		ingstown, PA							
Robert Lang 717-766-0711									
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES		
1.	5	7,959.00	39,795.00	VALK	RTP1036116PRCECT	90-180 Days ARO	10/1/2018		
							10/1/2010		
2.	3	8,974.00	26,922.00	VALK	RTP1036116PRC	90-180 Days ARO	10/1/2018		
TOTAL: 66,717.00			1		•				
RECOMMENDED AWARD: 39,795.00									
KECOIV	IIVIEIND	ED AWARD.	39,795.00				0455		
					CARD: _	01-49			
TENTATIVE AWARD BY: Purchasing Com			mmittee	DATE: 6/25/2018					
ITEM(S): Item 1				Item 1		_			
AWARDED TO: Valk Manufacturing			(7/6/2018)	_					

ARKANSAS STATE HIGHWAY COMMISSION ARDOT TABULATION

Snow Plow					CONTRACT NO.:	H-18-286H	DATE OPENED: 5/30/2018	
					FOB:	Hope, Batesville, and Paragould, AR	PAGE: 2 of 4	
Delivery: with	nin 180	Days after aw	ard					
	Henke	MFG Vilson Ave.						
VENDOR:		nworth, KS 66	6048					
		eka 913-680-						
		<u>@henkemfg.c</u>						
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES	
1.	5	9,150.00	45,750.00	HENKE	36R10TT	60 Days ARO	12/14/2018	
2.	3	8,850.00	26,550.00	HENKE	36R10PCL	60 Days ARO	12/14/2018	
TOTAL: 72,300.00								
RECOMMENDED AWARD: 26,550.00								
							CARD: 01-49	
TENTATIVE AWARD BY: Purchasing Com			nmittee	DATE: 6/25/2018				
ITEM(S): Item 2				Item 2		_		
AWARDED TO: H				Henke MFG (7/1	1/2018)	_		

ARKANSAS STATE HIGHWAY COMMISSION ARDOT TABULATION

Snow Plow					CONTRACT NO.:	H-18-286H	DATE OPENED: <u>5/30/2018</u>	
					•			
					FOB:	Hope, Batesville, and Paragould, AR	PAGE: 3 of 4	
Delivery: with	nin 180 l	Days after aw	ard					
		au Equipment						
		South Moorlan						
VENDOR:	New B	erlin, WI 5315	51					
		Helmid 262-8						
	hhelmi	d@wausaueq	quipment.com					
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES	
1.	5	12,258.00	61,290.00	WAUSAU	R3610	90-120 Days ARO	12/1/2018	
2.	3	NO BID						
TOTAL: 61,290.00								
RECON	ИМЕND	ED AWARD:						
							CARD: 01-49	
TENT	TATIVE					DATE:		
		ITEM(S):				_		
	Δ۱۸	ARDED TO:						
	~^\	ANDLD IO.				_		

ARKANSAS STATE HIGHWAY COMMISSION ARDOT TABULATION

Snow Plow					CONTRACT NO.:	H-18-286H	DATE OPENED:	5/30/2018
					FOB:	Hope, Batesville, and Paragould, AR	PAGE:	4 of 4
Delivery: with	hin 180	Days after aw	ard /		_		_	
	Viking P.O. B Morley Daryl I	Cives Mid-Wo lox 295 v, MO 63767 Hay 573-579-3 Ovikingcivesm	est 3019					
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNI	T PURCHASES
1.	5	RI	EJECTED - NO BID	BOND				
2.	3							
		TOTAL:						
RECOMMENDED AWARD:								
							CARD:	
TEN	TATIVE					DATE:		
						_		
	AW	/ARDED TO:				_		